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QUESTION 1

You want to trigger failover of redundancy group 1 currently running on node 0 and make node 1 the primary node the
redundancy group 1. 

Which command would be used accomplish this task? 

A. user@host# set chassis cluster redundancy-group 1 node 1 

B. user@host> request chassis cluster failover redundancy-group 1 node 1 

C. user@host# set chassis cluster redundancy-group 1 preempt 

D. user@host> request chassis cluster failover reset redundancy-group 1 

Correct Answer: B 

 

QUESTION 2

Click the Exhibit button. 

A customer would like to monitor their VPN using dead peer detection. 

Referring to the exhibit, for how many minutes was the peer down before the customer was notified? 

A. 5 

B. 3 

C. 4 

D. 2 
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Correct Answer: A 

 

QUESTION 3

Which statement is true when destination NAT is performed? 

A. The source IP address is translated according to the configured destination NAT rules and then the security policies
are applied. 

B. The destination IP address is translated according to the configured source NAT rules and then the security policies
are applied. 

C. The destination IP address is translated according to the configured security policies and then the security
destination NAT rules are applied. 

D. The destination IP address is translated according to the configured destination NAT rules and then the security
policies are applied. 

Correct Answer: D 

 

QUESTION 4

Which three Encapsulating Security Payload protocols do the SRX Series devices support with IPsec? (Choose three.) 

A. DES 

B. RC6 

C. TLS 

D. AES 

E. 3DES 

Correct Answer: ADE 

 

QUESTION 5

What are three characteristics of session-based forwarding, compared to packet-based forwarding, on an SRX Series
device? (Choose three.) 

A. Session-based forwarding uses stateful packet processing. 

B. Session-based forwarding requires less memory. 

C. Session-based forwarding performs faster processing of existing session. 

D. Session-based forwarding uses stateless packet processing, 

E. Session-based forwarding uses six tuples of information. 
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Correct Answer: ACE 
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